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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, Cand D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

Use of calculator is not permitted.
@UE-3{ / SECTION-A
we g 1 84 H vdE w13 ¥

Question numbers 1 to 4 carry one mark each.

! :
j i % T ST
173
7%
Simplify: —
173
__}/ 813 — 125¢° 1 UFEST | 1
Factorise : 81> —125x°.
3/ F1 A ABC 59 ¥, Af% LA =50°, /B=130° AR £LC=40°%? 1
Is A ABC possible, if ZA=50°, ZB=130°and ZC=40°?
@ U THETE B 1 8%l 6443 cm? B SEERI Y FIG IS 1

The area of an equilateral triangle is 644/3 cm?. Find its side.
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EUsS-d / SECTION-B
W FEN 58 109 TAF F 2 3% €|
Question numbers 5 to 10 carry two marks each.

2113 aﬁ%%mﬁmﬁmﬁﬁpaﬁtqwﬁa%mqmt

Express 2113 in the P form, where p and q are integers and q = 0.

ﬁuiﬁaﬁﬁqfawu 2) 83 -3x2+4ax—4faug 87

Determine if x> — 3x2 + 4x — 4 is divisible by (x — 2).

92l Sy 3R F9 Fi gffiE wifaw)

Define the term POLYGON and ANGLE.

g1 € %M 5, PQ|IRS, ZMXQ=125° T8 ZMYR=40°% 1 ~XMY & 9H T HIHT |
P X Q

125°
M
s w >

R Y S
In the figure, if PQ||RS, ZMXQ=125°and £ZMYR =40°, find ZXMY.
P X Q

ok

1 ©
2 M

* "—r

Y

ﬁgsii(z,3)(3—4)( —4,5), (-5, —6),(—2,0),(0,5), (0, —5) ¥R (-5, 0) F MAfET FIfT |

Plot the points (2)3), (3, ~4), (- &Ssa)?( 5, —6), (=2, 0),(0,5), (0, —5) and (-5, 0).
R ER S N Im 12m

EUus-¥ / SECTION-C
99 T 119 209 TAF & 3 3 €
Question numbers 11 to 20 carry three marks each.

| 7
kel W, g o

Simplify : — i
572 + 3288 — 2 /648

adRbF AR TR AR afy Y2*1 V21 _ . 5oy

2 ~1 «f2+1
Find the valuesof aand b, if V2 +1 V2 -1 =a+2b
L-1" 41

(a— 2b — 3c)2 il FEIA SHiferT |
Expand the following :
(a—2b—3c)?

15 m ¥, T 391 &% EF g3 §RI 16 i |

If the sides of a triangle are 9 m, 12 m and 15 m, then find its area, using Heron’s formula.

N



\éé a3—b3$rmqama?rﬁlmﬂfaa—b=g%ai’r{ab=%%l 9

Find the value of a3 — b3, ifa~b=-?- and ab= Z

3 ,
-é/ st §, Yt pq 3R Rs WER fig 0 W wfirsde &t &1 aft £POR: ~ROQ=5: 7 &, @ g g 3

gl SHIUT FE T |
2 S
"
N
" ®)

In the figure, lines PQ and RS intersect each other at point 0. If ZPOR : ZROQ =57, find all the
- indicated angles. °

VV o ®, DELAB R | x A1 y & A I/ Hife | 3
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D C B
In the given figure, DELAB. Find the values of x and y.
A

E
110°(XF
X YA 40°
D C B
fag Fife F 3 faye gatmem 27 € afz u frys & 2 1o o ST S yen g B & 3

2 BV IR ITH! ST Y F TR |
Prove that two triangles are congruent if any two angles and the included side of one triangle
are equal to any two angles and the included side of the other triangle.

\/ﬁ o st 1 fora a1 W fRig (-2, —4), (2,4), (0, ~2) 3 (4, -6) o §? wwiig aa 4 36 3
feafa fruffta % ST97 SR &1 T HifC |
In which quadrant or on which axis do the points (<2, —4), (2, 4), (0, ~ 2) and (4, —6) lie ?
;’/ Verify your answgr by locating them on the cartesian plane. ;
B

5 . 14‘1cm C

s ¥ oHEifea 9 1 ST T ST |
B

&
Ne/ 15cm

B
Q

A 14 cm C

In the figure, calculate the area of the shaded region.
@ue-g / SECTION-D

Y A 21931 TEE F 43TFH T |

Question numbers 21 to 31 carry four marks each.

\% e x=9-45 %,'cﬁx2+—1~5 1 e | 4
X
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”
4 Ifx=9-4/5, find x2+l2.
x e
}‘? = aZ+b%+ab & 2 +b% +cb p a2+c2+ac //'
v Frefere [x_] x[i_} x[f._) /
xP x© x"
& aZ+b%+ab b 2 +b2+cb o aZ+c2+ac
Evaluate : (L} x [x_] X (I_J
x° 2" "
& 923 — 2722 — 1002+ 300 ¥ TUFEE HITAY, 4% 32+ 10 THH TH TGS T 4 -
Factorise : 923 — 2722 — 100z + 300, if 3z + 10 is one of the factors. 3 \
»@ﬁ’ wgae x4 +3:° - u2+x+1oaﬁx+zﬁmﬂmaﬂtmmwwmmmm 4 P
AT iy | a
Divide the polynomial x*+3x®—2x2+x+10 by x +2 and verify remainder by using remainder s
theorem. \°'a
TUFEE HIT : a° +64b° + 14a%b + 56ab? 4 "{(o
Factorise : a> + 64b + 14a%b + 56ab” A

=

Showthata3+b3+c3—3abc = % (a+b+c) {(a—-b)2+(b—c)2+(c—a)2]

T2y ereH wE wfaw a=iel’ 3 % fo ww famer F $o faend g o i st i
| 3 PR POR TR % ge faw e, ford 3R i P 1 gHigee PM G491 SR QR W
7 PN @re gt 99 e § fawifse s 9w s 9@ W feen fag =i fE

ZMPN = % (£Q - £R) 2 S

/Q> /R ¥ 70 uER f el & @ ey g 22

For spreading the message "Save Girl Child Save Future" a rally was organized by some
students of a school. They were given triangular cardboard piece PQR which they divided in
to three part to make design and write slogan by drawing the angle bisector. PM of angle P

and perpendicular PN to base QR. Prove that ZMPN = 5 (AQ ZR), where £Q > ZR.

B

3}; Z9igy f a® +b° +c” — 3abe =% (a+b+c) [(a—b) +(b—c)+(c—a) *

What is the benefit of these type of rallies ? :
E y 4

few 7u fa § AB =CD 1 P @1 Q YEREUET AB 491 €D W 38 ¥ER fag ¥ % AP=%AB an

Q=1 CD 1 fiig Fwufm P =ca ¥ 2fers ¥ i T e 1 3w g2 ¥ & st
Ffare ¥F 21 =Y a7 fafaw)

B C
Q A
B/ N
! A D
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X;
In the given figure, AB =CD, P and Q are points on AB and CD such that AP = % AB and

CQ = CD Show that AP =CQ. State which axiom you use here. Also give two more axioms

other than the ax1om used in the above situation.

N

{Q z”rwéemrffaﬁ z||mafnp||q%| x Ty & W 0 R | 4

30 fo # A ABC u% wifgang firgst &, fordi AB=AC 3R AE, ZCAD ! gaifgwifor a1 1 fag 4
Hifg fF AE || BC ®1
D

& E

B C
In figure; A ABC is an isosceles triangle in which AB=AC and AE bisects ZCAD. Prove that

AE|BC,
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B C
T FeF ¥ S AR SR SR F 3 W AB iR CD @8 ¥ (s fEw) |
Ife AF = CE &, & frg #ife fFBE=FD %1

A C
. g P
Two equal pillars AB and CD are standing on either side of the road as shown in the figure.
If AF=CE, then prove that BE=FD. 3

4C
B! T 3 D
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